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2A: Msard
M XsLE 2435
el MsdE =4 A (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 6,040
Al 14,240
oORadE EFMU3 17,000
& 17,000
HE HASZ AME=dH 90,000 90,000 0
& 45,000
Al 45,000
307 212+01™ 90,000 90,000 0
& 45,000
Al 45,000
02 QItBAAIH E X 90,000 90,000 0
OZE HAZ AEESAH 90,000
T 45,000
Al 45,000
HIZHUE 2X SuES 17,000 17,000 0
207 AR HI 17,000 17,000
01 A2 E9H| 17,000 17,000
OX==HUE BRI =M 17,000
o A3 A Y 30,000 30,000 0
& 10,000
Al 20,000
307 212+01™ 30,000 30,000 0
T 10,000
Al 20,000
02 QIZHA A AL E X 30,000 30,000 0
OF4 2483 Al 30,000
= 10,000
Al 20,000
HFNEUSHEH JsBL (= ZH00A 30,000 0 30,000
& 30,000
402 QI+ Rt=01H 30,000 0 30,000
= 30,000
02 QIZEXH2AIZ 2 (01 TH &) 30,000 0 30,000
ONdF=HECISHH JlsEd 30,000
& 30,000
IMUs !X ¥ BELE 20,000 0 20,000
201 LB-2AY| 20,000 20,000
01 AtR2telt] 20,000 20,000
O=ZMUz |X £ 88 20,000
M=sls 29 XA 3,260,145 3,337,215 AT7,070
T 957,960
Al 2,302,185




2A:
PSR
ool

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
H=AIEH HENF d=L=2U 3,300 3,600 A300
307 elztol & 3,300 3,600 A300
04 QIZHHAMALH 2 & 3,300 3,600 A300
ON212l dF=ASH H2H=s d=L=02 3,300
H=AIEH EMF ESAE AU 3,700 4,050 2350
307 gl2to| & 3,700 4,050 A350
04 QIHHAIAIH 2 £ 3,700 4,050 A350
OR125] HFAZ MEHE HEXHHC
2l 3,700
HFAIEH MBS SIIEUE 7,000 7,000 0
307 elztol & 7,000 7,000
04 QIZIHAIAIRH 2 X 7,000 7,000
ON223] M=AIEHH dEHS &II=U2 7,000
SFAEH MEHS 2=402 4,500 5,000 A500
307 elztol & 4,500 5,000 A500
04 CIZHHAMALH 2 & 4,500 5,000 A500
ORNI9=l &=AIZH HEH=F 254U 4,500
S==AI S 202 Y8R EIHICITE] 8,550 8,550 0
307 @120l & 8,550 8,550
04 QIZHHAMAIH 2 £ 8,550 8,550
OXI162l MFAIZH 2CIYE &S EIHICITHE 8,550
HE=AIZH HEM= 8=t 5,000 5,000
307 elztol & 5,000 5,000
04 QIZHHAIAIS E X 5,000 5,000
ON9al HFAIZH dEHS dS 1R
=X 5,000
A=A 2= d=HZ22H01E U= 6,300 6,300
307 el2to| & 6,300 6,300
04 QIZFSHAIALR 2 2 6,300 6,300
OMN192] H=AlIZH HEH=s d=ld2ct
olgtial 6,300
H=AIEH HEWF ==0I3U3 5,000 5,000 0
307 212+01& 5,000 5,000
04 QIZHHAIAIH E X 5,000 5,000
O3l dFAISH H2HS =s|ISU2 5,000
HE=AIEH HEMS =428 01F2=UZ 9,000 9,000 0
307 elztol & 9,000 9,000
04 CIZHHAMAMH 2 & 9,000 9,000
ONI102l HFAISH HEHS +=&2318201
:lt‘EEHsl 9,000
A S dEHs AFAIU 7,650 7,650 0
307 @12t01 & 7,650 7,650
04 QIZHHAMAIH 2 £ 7,650 7,650




2A:
PSR
ool

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| OHmE MFEAZ MEHS AFANS 7,650
HFASE dEH s =S AAH0IEUHS 9,500 9,500
307 elzto| & 9,500 9,500
04 QIZHHAIAME 2 & 9,500 9,500
OMN92] HF=AZH HEHF d=552A
HOIETHE 9,500
A=A EH dEHs d=USSEs2U2 9,400 9,400 0
307 212+01& 9,400 9,400
04 QIZHHAIAIH E X 9,400 9,400
ON202 HFAISH H2H=s =052
sz 9,400
=AU HEH=S SLOEHOICHE 5,000 5,000 0
307 212to1™ 5,000 5,000
04 CIZHHAMALH 2 & 5,000 5,000
OM102 H=AlIZH HEH= FOEOIL=] 5,000
A=A ZH EMF LiH=203 5,000 5,000 0
307 @120l & 5,000 5,000
04 QIZHHAMAIH 2 £ 5,000 5,000
ONI103| H=AIZH &M= LIHIZZUH3 5,000
H=AIEH HEMF 2822203 14,400 16,000 A1,600
307 212t01™ 14,400 16,000 A1,600
04 2IZHHALAIS 2 & 14,400 16,000 /1,600
ONI182l MFAITH HEHS AJRAEEE
il 14,400
H=AIEH HEMF A2AIHUR 4,500 4,500
307 2I2t01 & 4,500 4,500
04 QIZFSHAIALR 2 25 4,500 4,500
OM102 H=AlZH HEHF A21AFHU
2l 4,500
HFAITH HEHS =203 6,000 6,000 0
307 212+01& 6,000 6,000
04 QIZHHAIAIH E X 6.000 6,000
ONlI6al MF=AIHH MEMSE SZH3 6,000
H=AIEH dEMs 8= g203 9,500 9,500 0
307 elztol & 9,500 9,500
04 CIZHHAMAMH 2 & 9,500 9,500
ORNI252] 8=AIEH HEHT 8= U2 9,500
HF=AIH HEHS S0 10,000 10,000
307 @20l & 10,000 10,000
04 QIZHHAMAIH 2 £ 10,000 10,000
ON20z M==AY MEHS S 10,000
H=AIEH dEMs 852 =87/03 4,500 4,500
307 212+01& 4,500 4,500 0




2A:

o XS BA5
=2 M=tal 29 X (SH &)
SA - B GR(31) - HIRAY - BES il &k e HlmS2
04 CIZISHAIAIRIE X 4,500 4,500 0
OM192l EF=AIZH MEH=E 8IS0 =4
JItHE] 4,500
SFAIZH MEHSE H=8AUE 5,000 5,000
307 gI2tol ™ 5,000 5,000
04 QIZHHAIAIE E X 5,000 5,000
ON24z] M==AIZHH MEXN ST M==AY 5,000
HFAIZH Relotet Mz ZHUs 10,000 10,000
307 2Iz2+0l ™ 10,000 10,000
04 CIZISHALAIRIE X 10,000 10,000
ORMI28a] M=AIEH Reloter MEx 2H
cHal 10,000
SFAIZH MEHE 24 StitEE 8,550 8,550 0
307 QI2Hol M 8,550 8,550
04 QIZHHAIAIRIE & 8,550 8,550
OMI19al d=AIEH MEM=S Z& SHOHEH
=) 8,550
S=ATH MEHSE 024 HOIESUHE & oHd & 10,000 10,000 0
FEAE AHOIESTH3
307 2I2+0l ™ 10,000 10,000
02 QIRHEAAIHEE X 10,000 10,000
ON282l E=AIZH MEMS 24 HOIE
Slal & H17zl 6d 2 RRAEN0IESH
= 10,000
H=AZE RIS 7,000 7,000
307 QI2Hol M 7,000 7,000
04 QIZHHAIAIRIE & 7,000 7,000
ORmies!l M=AIEHH It 7,000
H=AZH &= Ol=HILIANS 6,000 6,000
307 gI2Hol 6,000 6,000
04 QIZHHAIAIE E X 6,000 6,000
ORMI182l M==AIZHH 8= Ol=HILIANS 6,000
AT dEs HAATXIS 5,000 5,000 0
307 QI2H0| M 5,000 5,000
04 QIZFHAIAIZ B &= 5,000 5,000
ORMI9s| M=AITHH MEMS HAAZXY
3 5,000
H=AIEH 255013 5,000 5,000 0
307 QI2Hol ™ 5,000 5,000
04 QIZHHAIAIE E X 5,000 5,000
OQVZ=AIEH 2AUIS 5,000
S NEZ d2dis =8 X 5,000 5,000 0
307 gI2tol ™ 5,000 5,000 0




2A:

o XS BA5
=Rl M=ta 29 A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 LB HAHE X 5,000 5,000 0
ousat NEZ delial E8 XE 5,000
HFAYI| = 2380 =3 0202 6,000 6,000
307 el2to| & 6,000 6,000
04 QIZHHAIAIH 2 £ 6,000 6,000
OHM115a 8FAIYI| d= 2538t =F
OF2CH3l 6,000
A S Hatiz 4,500 4,500
307 212+01& 4,500 4,500
04 QIZHHAIAIH E X 4,500 4,500
ON212l E=AIZH L&z 4,500
HFAEH =S5+ & FAHSEUE F20 17,000 17,000 0
307 elztol & 17,000 17,000
04 CIZHHAMAIH 2 & 17,000 17,000
ON27al A =2S=72U32 & Mi122
FAESEUE S203 17,000
H=AEI L EFAIEE EUSEUE 14,000 9,000 5,000
307 @12t01 & 14,000 9,000 5,000
04 QIZHHAMAIH 2 £ 14,000 9,000 5,000
ON302 HFAIFI| L M202 HFAIZHH &
H=d U3l 14,000
HFAIEI| SEtU2] 4,500 4,500 0
307 glztol & 4,500 4,500
04 CIZHHAMAIH 2 & 4,500 4,500
OHMI103] EF=AIEI| SLTHE 4,500
S=AIEH AZEHILIAME 5,400 5,400
307 212t01 & 5,400 5,400
04 QIHHAMAIH 2 £ 5,400 5,400
OHMI123] d==AIZHH AZEHILIAHE 5,400
H=AIEH = 5,000 5,000
307 212+01™ 5,000 5,000
04 QIZIHAIAIH E X 5,000 5,000
ON202 H=AIEH sd=U3 5,000
HFAIEHH E=010tHH=THE 10,000 10,000 0
307 glztol & 10,000 10,000
04 QIZHHAMALH 2 & 10,000 10,000
ORMI182l HAlEE &=0t0tHH=0H3 10,000
A s72U= 7,290 7,290 0
307 gl2to| & 7,290 7,290
04 QIHHAMAIH 2 £ 7,290 7,290
ORN215l d=AIEH s7U3E 7,290
HFAIEH 8=22EZS5S0 2 24 &0 12,200 12,200 0




2A:
PSR
ool

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 12,200 12,200
04 CIZHHAMAIRH 2 & 12,200 12,200
OHMI2 HFAIEH 822532 € 0=
& B3 12,200
HF=AIEH =02 8,000 8,000 0
307 @12to| & 8,000 8,000
04 QIZHHAMAIH 2 £ 8,000 8,000
ORM27al d=AEH REU3S 8,000
HFAEI B85 B2 7,000 5,000 2,000
307 212+01& 7,000 5,000 2,000
04 QIZHHAIAIRH 2 X 7,000 5,000 2,000
ORM263] H=AIED| M= EHEEUS 7,000
H=AIEH X 23 HILIANS 7,250 7,250
307 elzto| & 7,250 7,250
04 CIZHHAMAMH 2 & 7,250 7,250
ON02l HF=AIZH X M202l S=2/&81 HIL
kSN =1 7,250
AT HEH=F HELEHWS 9,500 9,500
307 21201 & 9,500 9,500
04 QIZHHAMAIH 2 & 9,500 9,500
ORNI332 HFAIED| HEH=F =SS 9,500
HFAIZHH SEU HH20E 10,000 10,000 0
307 elztol & 10,000 10,000
04 QIZHHAMAIRH 2 X 10,000 10,000
ORMZr=l H=AlZH S il 10,000
HFAIEI =20U = 9,000 9,000 0
307 212t01™ 9,000 9,000
04 QIZIHAIALE 2 & 9,000 9,000
OHM31zl EF=AIEI| FXUE 9,000
S=AEH =S U2 6,000 6,000 0
307 21201 & 6,000 6,000
04 QIZHHAIAIH E X 6,000 6,000
ON192] M==AIZH =SH2] 6,000
H=AED] S 5,000 5,000
307 212t01™ 5,000 5,000
04 QIZHHAIAIS 2 X 5,000 5,000
ORNl62l H=AIEI| S4U3 5,000
SFAl1(0t01)-21 FRU(SIHAEXIH) 44,000 44,000
307 el2to| & 44,000 44,000
02 2IZHBYAIHE A 44,000 44,000
OH®EZFAl 1(0L01)-210 =708l 44,000
dEAMHEW =2 7,000 7,000 0
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SA: RIS
M HSVE 2L
ool FZ0E 2 X

I (et &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 2,500 2,500
04 CIZHHAMAIRH 2 & 2,500 2,500
OE=0g=52U3 EX 2,500
H=AIRIS AP = st 2SI 83 2,700 2,700 0
307 gl2to| & 2,700 2,700
04 QIHHAIAIH 2 £ 2,700 2,700
OdFAIRIS] HHE RSt 2G| 28 2,700
clE0E X3 20,000 30,000 10,000
307 212+01& 20,000 30,000 10,000
02 LB MAHEE 20,000 30,000 10,000
OclE0FE K& 20,000
H=Tct2EsZls] =4 2,000 2,000
307 glztol & 2,000 2,000
04 CIZHHAMAIH 2 & 2,000 2,000
O&=1ct2E=2s &4 2,000
HdF=2E FHMEtAEU= 100,000 75,000 25,000
= 100,000
307 elztol & 100,000 75,000 25,000
= 100,000
04 QIZHHAMAIH 2 £ 100,000 75,000 25,000
OXF2E IMEHA =S 100,000
< 100,000
&= FeletelotetEl 2 200,000 200,000 0
=S 100,000
Al 100,000
307 21201 & 200,000 200,000 0
< 100,000
Al 100,000
04 QIZHHAIAIRH 2 X 200,000 200,000 0
O&= FLoletolitetE0Hs 200,000
= 100,000
Al 100,000
Ol¥=Hi d=0L0tH=S =203 35,650 35,650 0
= 10,000
Al 25,650
307 @20l & 35,650 35,650 0
s 10,000
Al 25,650
04 QIZIHAIAIH E X 35,650 36,650 0
OO0I &=t d=0l0tHtS & =2 TH3 36,650
[ 10,000
Al 25,650




S RARIPS = algeaiy
33 Msds 243
=Rl M=ta 29 A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
H=E2It=0tcHEW 2 55,000 356,000 20,000
= 35,000
Al 20,000
307 el2to| & 55,000 35,000 20,000
= 35,000
Al 20,000
04 QIHHAMAIH 2 £ 55,000 356,000 20,000
OH=FRIIE0IIEUS 55,000
s 35,000
Al 20,000
ESHFSHAR Y 2| d=sTUAIZ2UE 90,000 85,000 5,000
& 20,000
Al 70,000
307 elztol & 90,000 85,000 5,000
= 20,000
Al 70,000
04 CIZHHAMALE 2 & 90,000 85,000 5,000
O2HS2RH 2| A=SHHALOIZ2U
2l 90,000
=S 20,000
Al 70,000
H=et=0ts d=HIE0E0 3 50,000 50,000 0
< 15,000
Al 35,000
307 glztol & 50,000 50,000 0
= 15,000
Al 35,000
04 CIZHHAMAMH 2 & 50,000 50,000 0
O Fet=0ts A==z 50,000
= 15,000
Al 35,000
dxet=0ts d=dH S350 iUl 71,500 78,000 26,500
< 13,000
Al 58,500
307 elztol & 71,500 78,000 26,500
& 13,000
Al 58,500
04 CIZHHAMAIH 2 & 71,500 78,000 26,500
odFet=0ts d=EH S5 U3 71,500
= 13,000
Al 58,500
d=gt=0le AXXZ0I12S3 U= 45,000 45,000 0
s 15,000




2A:

33 Msds 243
el dste 28 A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2

Al 30,000

307 gl2tol & 45,000 45,000 0
=S 15,000
Al 30,000

04 QIZHHAMAIH 2 £ 45,000 45,000 0
OXFE=20tE AX=SH0I1LSS =] 45,000
< 15,000
Al 30,000

d=st=0ts d=H=02 40,000 20,000 20,000
= 20,000
Al 20,000

307 el2tol & 40,000 20,000 20,000
= 20,000
Al 20,000

04 QIRHHAMAIH 2 £ 40,000 20,000 20,000
O&d=gt=0ts d=HI=U2 40,000
== 20,000
Al 20,000

OHEE sote d=2=403 40,000 40,000 0
= 20,000
Al 20,000

307 elztol & 40,000 40,000 0
= 20,000
Al 20,000

04 QIZIHAIALE 2 & 40,000 40,000 0
O0=8 stitg 8= 40,000
S 20,000
Al 20,000

H=et=20tE dEHSs d=0d5710U3 14,000 14,000 0
[ 5,000
Al 9,000

307 glztol & 14,000 14,000 0
= 5,000
Al 9,000

04 CIZHHAMAIH 2 & 14,000 14,000 0
Ot Fet=0ts dEMs 80852 U2 14,000
= 5,000
Al 9,000

SIEH A=AFHAE=AUZ 35,000 37,000 /2,000
== 10,000
Al 25,000

307 212+01& 35,000 37,000 A2,000
< 10,000




2A:

o XS BA5
el dste 28 A (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2

Al 25,000

04 QIHHAMAIH 2 £ 35,000 37,000 22,000
O3 MIAFAE=2AS 36,000
s 10,000
Al 25,000

st=22galdtl d=22 U3 105,000 105,000 0
& 30,000
Al 75,000

307 glztol & 105,000 105,000 0
= 30,000
Al 75,000

04 CIZHHAMAME 2 & 105,000 105,000 0
Oolst=gE2dtl d==8Uz 105,000
= 30,000
Al 75,000

A &= sLSstW U 110,000 0 110,000
[ 40,000
Al 70,000

307 elztol & 110,000 0 110,000
= 40,000
Al 70,000

04 QIZHHAMAMH 2 & 110,000 0 110,000
OFH &= st H=U3 110,000
= 40,000
Al 70,000

=MLY d=-"EH=z =0 40,000 40,000 0
== 10,000
Al 30,000

307 212+01& 40,000 40,000 0
[ 10,000
Al 30,000

04 QIZHHAIAIS E X 40,000 40,000 0
Ot d=xEE=E=Uz= 40,000
= 10,000
Al 30,000

OfAlOt =28 =R 3 32,000 0 32,000
S 32,000

307 glztol & 32,000 0 32,000
= 32,000

04 QIZHHAMAIH 2 £ 32,000 0 32,000
OOtAIOt S =R 2 32,000
< 32,000

HEdH d==3Ual 125,000 125,000 0




SA: RIS
M HSVE 2L
ool FZ0E 2 X

= EER-E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 25,000
Al 100,000
307 lztol & 125,000 125,000 0
= 25,000
Al 100,000
04 CIZHHAMAMH 2 & 125,000 125,000 0
ousztl d==giz 125,000
= 25,000
Al 100,000
=S U0 65,000 80,000 /15,000
< 25,000
Al 40,000
307 212+01& 65,000 80,000 A15,000
& 25,000
Al 40,000
04 CIZHHAMAIRH 2 & 65,000 80,000 15,000
OXISHUEIUE 65,000
= 25,000
Al 40,000
HsSEJ| d=HUSHA = 270,000 0 270,000
s 100,000
Al 170,000
307 @I2t01 & 270,000 0 270,000
< 100,000
Al 170,000
04 QIZHHAIAIRH 2 & 270,000 0 270,000
oSl d=tHUSHAE = 270,000
= 100,000
Al 170,000
SAMSAISFI2AN dEMS d=24U2 60,000 0 60,000
= 30,000
Al 30,000
307 @120l & 60,000 0 60,000
== 30,000
Al 30,000
04 QIZIHAIAIH E X 60,000 0 60,000
OSSR 2N MENS 8=
tHal 60,000
= 30,000
Al 30,000
SIS EH MIHAALIMASANS] L SEHH 20,000 40,000 £20,000
MBS SHAATLRYS
=S 10,000




2A:

33 Msds 243
el dste 28 A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 10,000
307 gl2tol & 20,000 40,000 A20,000
=S 10,000
Al 10,000
02 QB AANSEER 20,000 40,000 /20,000
OUetH =2 HH Md=aHAAT MR
3 ¥ SEU dENFHAALZ (Y3 20,000
< 10,000
Al 10,000
DelotE FX U3 82,880 0 82,880
= 82,880
307 212+01& 82,880 0 82,880
< 82,880
04 QIHHAMAIH 2 £ 82,880 0 82,880
O0Zcl0tE FH=U3l 82,880
s 82,880
Y= SEEHMIIE =HB=EUS 40,000 0 40,000
= 40,000
307 elztol & 40,000 0 40,000
= 40,000
04 QIZHHAMAIH 2 £ 40,000 0 40,000
Oot== SEUMINIIE SHEHECIEHWHZ 40,000
== 40,000
d=Ust S d=EA=U= 190,000 0 190,000
= 110,000
Al 80,000
307 @I2t0| & 190,000 0 190,000
== 110,000
Al 80,000
04 QIZHHAIAIH E X 190,000 0 190,000
OXFUSIWEIH == 190,000
< 110,000
Al 80,000
det=0ts d=04852032 85,000 0 85,000
= 30,000
Al 55,000
307 gl2to| & 85,000 0 85,000
=S 30,000
Al 55,000
04 QIZHHAMAIH 2 £ 85,000 0 85,000
(CFSES=IE = SESGRSEEl kol 85,000
< 30,000
Al 55,000




SA: RIS
M HSVE 2L
ool FZ0E 2 X

& (£ &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
=g =M FaHE KU 71,000 0 71,000
= 15,080
Al 55,920
307 el2to| & 71,000 0 71,000
= 15,080
Al 55,920
04 QIHHAMAIH 2 £ 71,000 0 71,000
OX=E =M Fa4d U 71,000
s 15,080
Al 55,920
SEN RS IFSERS Fel Bl F= 2=a ke 30,000 0 30,000
& 5,000
Al 25,000
307 elztol & 30,000 0 30,000
= 5,000
Al 25,000
02 2IZHBYAIHE £ 30,000 0 30,000
OHFAIEH d=F0A LIS Z 3 30,000
= 5,000
Al 25,000
detzgil 8=sselgtel 50,000 0 50,000
[ 10,000
Al 40,000
307 glztol & 50,000 0 50,000
S 10,000
Al 40,000
04 QIZHHAMAMH 2 & 50,000 0 50,000
OoXctzgtl d=5320d-2Ual 50,000
= 10,000
Al 40,000
M=M= =2 £ 2,500 0 2,500
307 @I2t01 & 2,500 0 2,500
04 QIZHHAMAIH 2 £ 2,500 0 2,500
OME=N=S A= =H 2,500
KBHt=cld &It X 320,000 0 320,000
307 glztol & 320,000 0 320,000
04 QIZHHAIAIRH 2 X 320,000 0 320,000
OKBHt=cla &It XI& 320,000
daHs gd3 N 5,563,241 4,488,289 1,074,952
) 2,688,859
< 766,093
Al 2,108,289




2A: Mg
M XsLE 2435
Chel: MENs 245 Ad (St &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
2Bt MBS XIS X 415,903 364,776 51,127
| 157,285
Al 258,618
307 212+01™ 415,903 364,776 51,127
J| 157,285
Al 258,618
02 QIZHEAAHE X 415,903 364,776 51,127
OXEX =20 & HEREHZ 314,570
| 157,285
Al 157,285
OXIEA =Y 101,333
FAE MEXISX S UiX 40,588 39,718 870
| 15,729
Al 24,859
307 212+01™ 40,583 39,718 870
J| 15,729
Al 24,859
02 QIZHAAAHE X 40,588 39,718 870
OXEA =0 & HEREHZ 31,458
| 15,729
Al 15,729
OXIEA =Y 9,130
24l MEHSX S HiX 456,600 407,793 48,807
| 173,014
Al 283,586
307 212+01™ 456,600 407,793 48,807
J| 173,014
Al 283,586
02 QIZHA A AL E X 456,600 407,793 48,807
OXEA =20 & HEREHZ 346,028
| 173,014
Al 173,014
OXIEA =Y 110,572
CHetolmet &2 MEH=sSEZ20Y 23 48,000 48,000 0
& 18,000
Al 30,000
307 212+01™ 48,000 48,000 0
T 18,000
Al 30,000
02 QIZHAAAIHE X 48,000 48,000 0
ousolme} &g MBIz 29 48,000
= 18,000
Al 30,000




S RARIPS = algeaiy
33 Msds 243
el MBS 243 X (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
HEHNSLY 29 165,678 142,678 23,000
= 42,806
Al 122,872
307 el2to| & 165,678 142,678 23,000
= 42,806
Al 122,872
02 QIZtEHAEE X 165,678 142,678 23,000
odEHsEud 29 165,678
s 42,806
Al 122,872
Al HOHQ MEH=SWA 18,000 18,000
307 glztol & 18,000 18,000
02 LB HAHE L 18,000 18,000
O&==Al B0 HHSWA 18,000
0l HEMFKI=AL i 353,949 307,621 46,328
) 140,859
< 70,430
Al 142,660
307 lztol & 363,949 307,621 46,328
Il 140,859
== 70,430
Al 142,660
02 LB AANHEE 363,949 307,621 46,328
OXNEA 20 & HERES 281,718
Jl 140,859
=S 70,430
Al 70,429
OXNEX =& 72,231
HEWE S22 =24 324,743 314,743 10,000
= 40,503
Al 284,240
307 el2tol & 324,743 314,743 10,000
= 40,503
Al 284,240
02 2B YAIHE A 324,743 314,743 10,000
OsHE =221 =28 190,000
OdEN=E sseleld 29 134,743
[ 40,503
Al 94,240
HENSZE N 24 361,600 361,600 0
= 73,920
Al 287,680
307 el2tol & 361,600 361,600 0




SN HISD
33 Msds 243
ool dENS 245 N (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 73,920
Al 287,680
02 2IZHB A E £ 361,600 361,600 0
odaN=ZY N 28 361,600
= 73,920
Al 287,680
L 2Y RAES 27,000 30,000 23,000
201 fet= 3| 7,000 7,000 0
02 S3=4gHl 7,000 7,000 0
odENx 28 |RAE+ 7,000
401 AIEHIZ R 0HYI 20,000 23,000 23,000
01 Al&H| 20,000 23,000 23,000
OdENx 2& R+ 20,000
MEHE XA H= 9,500 9,500
307 elzto| & 9,500 9,500
02 2IZHBHAIHE & 9,500 9,500
(©F=F=p ES=FSUNDN RS RS 9,500
HENS HdHE=SA 22 & 24 7,200 6,000 1,200
307 @120l & 7,200 6,000 1,200
02 QItEHAEE X 7,200 6,000 1,200
OMETIS MK B2 L UX 7,200
Ol0iLI 817 mal 22,000 18,000 4,000
307 212+01& 22,000 18,000 4,000
02 LB HANHEE 22,000 18,000 4,000
OOILI i+ w4 22,000
AZRAHNO0ISHE K 2,762,400 1,981,320 781,080
Jl 1,933,680
& 414,360
Al 414,360
301 2EN= 2,762,400 1,981,320 781,080
Jl 1,933,680
s 414,360
Al 414,360
01 Al 2E AL S(FRDEXM) 2,762,400 1,981,320 781,080
OAEZ=2Z01EA X 2,762,400
Jl 1,933,680
= 414,360
Al 414,360
oA =2H0I=ED K& 347,160 215,460 131,700
7l 243,012
= 52,074
Al 52,074




S RARIPS = algeaiy
33 Msds 243
el MBS 243 X (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 347,160 215,460 131,700
Jl 243,012
== 52,074
Al 52,074
01 AR 2EHSHS(RNEXRTHE) 347,160 215,460 131,700
OFMAAZ=2AR0IZSH X 347,160
Il 243,012
=S 52,074
Al 52,074
HSAEXSEY 2EXE 50,000 65,000 215,000
< 20,000
Al 30,000
307 glztol & 50,000 65,000 A15,000
= 20,000
Al 30,000
02 2IZHBYAIHE & 50,000 65,000 /15,000
OXSAEZ=ZY 2 50,000
= 20,000
Al 30,000
HFHIMAZRZY 2SEXE 45,000 45,000 0
< 12,000
Al 33,000
307 lztol & 45,000 45,000 0
& 12,000
Al 33,000
02 2B YA HE X 45,000 45,000 0
ON=FHIMAZ=ZY 2SI 45,000
= 12,000
Al 33,000
HF=AEXSY 2 50,000 35,000 15,000
s 14,000
Al 36,000
307 212+01& 50,000 35,000 15,000
[ 14,000
Al 36,000
02 IHB A HE L 50,000 35,000 15,000
OdFAZ=ZY 2 50,000
= 14,000
Al 36,000
St SOHME 57,920 78,080 A20,160
) 25,280
= 8,000
Al 24,640




SN HISD
33 Msds 243
el MBS 243 X (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 57,920 78,080 20,160
Jl 25,280
== 8,000
Al 24,640
01 AR 2EHSHS(RNEXRTHE) 57,920 78,080 20,160
Ol s0HME 57,920
Jl 25,280
=S 8,000
Al 24,640
= gdst 42,700,440 30,985,279 11,715,161
Il 1,000,000
< 2,454,440
Al 22,246,000
H 17,000,000
H=ASAE XS 42,700,440 30,985,279 11,715,161
Il 1,000,000
= 2,454,440
Al 22,246,000
H 17,000,000
mn=as=d |2l 80,000 80,000 0
201 er2 3| 10,000 10,000
2 352484l 10,000 10,000
ounzaz=nd sX2cl 10,000
401 AIEHIX SO 70,000 70,000
01 AlZH| 70,000 70,000
ouaz=td sAi2c| 70,000
d== dUds2 28 7,500,000 0 7,500,000
H 7,500,000
401 Al HIZ 2018 7,500,000 0 7,500,000
H 7,500,000
01 Al&H| 7,500,000 0 7,500,000
O& =+ dlfM=s2 2 7,500,000
H 7,500,000
3 ZEESIIIE HE 1,400,000 2,000,000 600,000
< 1,400,000
401 A& HIX R0 1,400,000 2,000,000 A\600,000
= 1,400,000
01 Al&HI 1,400,000 2,000,000 A\600,000
Od=x ZEHSZIE 2E 1,400,000
= 1,400,000
HEAE FX2el 216,000 206,000 10,000
201 2= 216,000 206,000 10,000




2A:

33 M=s 243
=t M=EAE XA (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 S5=g4l 216,000 206,000 10,000
OMSEAIE FAl2c 19,000
OHUN=Z HF= 197,000
HEAL2SE ALY HES 12,240,000 10,039,279 2,200,721
309 HES 12,000,000 9,919,279 2,080,721
01 SAL- SHIYHES 12,000,000 9,919,279 2,080,721
ONM=EAE2SH 2EXE 12,000,000
404 SAHSHUH=HES 240,000 120,000 120,000
01 SAt- SEHAZ2EES 240,000 120,000 120,000
OMSAIZ2e AIEXH 240,000
HEAIL 2228 100,000 100,000
401 AlEHIZ 2018 100,000 100,000
01 Al&H| 100,000 100,000
OM=EAIE cl2ad 100,000
FoHIIE ME B 1,250,000 1,600,000 /350,000
401 AlZHIZ SO 1,250,000 1,600,000 /350,000
01 A28l 1,250,000 1,600,000 A350,000
O=2=TIIE N4 B 1,250,000
g Bl MsdE AE 2,700,000 2,180,000 520,000
Jl 1,000,000
=S 700,000
Al 1,000,000
401 AIEHIZ SR THYI 2,700,000 2,180,000 520,000
Jl 1,000,000
= 700,000
Al 1,000,000
01 A28l 2,700,000 2,180,000 520,000
OgRa Ll MSHE A 2,700,000
Il 1,000,000
= 700,000
Al 1,000,000
== SYFALIERR FAE Xd 9,000,000 1,000,000 8,000,000
Al 1,200,000
H 7,800,000
401 AIEHIZ SR THYI 9,000,000 1,000,000 8,000,000
Al 1,200,000
H 7,800,000
01 Al&H| 9,000,000 1,000,000 8,000,000
ON=*= SEAZXER F=XE =4 9,000,000
Al 1,200,000
H 7,800,000
e S 420+ 24 3,300,000 1,000,000 2,300,000




t

S RARS E=Talges i
33 M=s 243
=Rl MSTSAE X2 (S+9):
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 1,600,000
H 1,700,000
401 AlEHIZL S0 3,300,000 1,000,000 2,300,000
Al 1,600,000
H 1,700,000
01 Al&H| 3,300,000 1,000,000 2,300,000
O2iHHesE dE02E &4 3,300,000
Al 1,600,000
H 1,700,000
SSHSAlE JEEEH 50,000 50,000 0
401 Al HIY R0 50,000 50,000 0
01 Al&HI 50,000 50,000
OSSHMSAIE J2HHEL 50,000
daZINE dSAAE WA 1,050,000 1,500,000 450,000
401 AlZHIZL SO 1,050,000 1,500,000 450,000
01 Al&H| 1,050,000 1,500,000 A450,000
OdaBIY dSAAE WAl 1,050,000
sHAENSIE S8 JdHUL 2=3A 500,000 500,000
401 Al HIYL S CHYI 500,000 500,000
01 A28l 500,000 500,000
OZUMNSSE F7E dHA 253
At 500,000
QItIEHEINE AMEINESA 300,000 0 300,000
401 AlEHIZL SO 300,000 0 300,000
01 Al&HI 300,000 300,000
OelctIEEINE AL S AL 300,000
2E2Z1E Sl 2,000,000 0 2,000,000
401 AIZHIZ S0 2,000,000 0 2,000,000
01 Al&H| 2,000,000 2,000,000
OE=ZHIINE ZE WA 2,000,000
HE2E W =0IAE £X 60,000 0 60,000
401 Al HIZ S OHbI 60,000 60,000
01 AlZ2H| 60,000 60,000
OXM=Z& W =0lA2 24 60,000
01T MEAEESK 22HE =8 200,000 200,000
401 AlEHIZL SO 200,000 200,000
01 Al&HI 200,000 200,000
OFII0IEY MSAILSA 2208 +~8 200,000
S & ZI1E &0 100,000 0 100,000
401 AIZHIZ R0 100,000 100,000
01 Al&H| 100,000 100,000
o= E=H FIIE SUUA 100,000




A Hs&S 0
g M= g4zt

=t M=EAE XA (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2

1 dER1E 2 AEAL 200,000 0 200,000

401 Al HIZL 201 200,000 0 200,000

01 Al&HI 200,000 0 200,000
0D MEEIE EPH ALY 200,000

NETTES INPEETMEET Y 34,440 0 34,440
< 34,440

401 Al&HI L2 THE] 34,440 0 34,440
= 34,440

01 Al&H| 34,440 0 34,440
OXI=ti==Xl AI&&EH| 34,440
< 34,440

SO Z2eMSHE S2d2E dX(S A0l 70,000 0 70,000
s 70,000

401 Al HIZL 201 70,000 0 70,000
= 70,000

01 Al&HI 70,000 0 70,000

OZUJId =2 HFHE

Ol
HT
r
U
e
iz
b2
3
IS
S

H
S
o
S8

== R0ts 322 =4 250,000 0 250,000
& 250,000

401 AlEHIZ 201 250,000 0 250,000
S 250,000

01 A&l 250,000 0 250,000
Od=* 20ts MA==ZH =4 250,000
= 250,000

SAEAl ek2 MSHE Jis 22 100,000 0 100,000

401 Al HIZL S 0HYI 100,000 0 100,000

01 A<l 100,000 0 100,000
OSAIEAl et2 MEHH JIs 22 100,000

HY2HZHI(H=LSDL) 51,160 53,826 A2,666

[2ZHI(M=arE D) 51,160 53,826 A2,666

Jl23HI(MF 4Dt 51,160 53,826 A2,666

201 L= 28,990 31,65 A2,666

01 AF22t2ltl 23,990 26,656 N2,666
OgBt==H| 12,240
Oo=gHl 11,750

02 3224l 5,000 5,000 0
O+t Et] 5,000

202 04| 18,570 18,570
01 2L AL 18,570 18,570

OJl=gRFA0l 18,570

203 BR8] 3,600 3,600 0
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